ENGINEERING TRIPOS PART IIB 2012
4A10 FLOW INSTABILITY
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ExXonners fole:

(2) This section was answered correctly by only 10% of the students. The
subsequent sections were designed to be independent, so this did not affect
their performance on the other sections.

(b) This section was answered well by almost all students.

(¢) This section was answered well by most students.

(d) This section was answered correctly by about half the students. Some students
did not know the correct criterion for instability and some did not know that
tanh and coth functions are always positive for a positive argument.
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Soniiners noe Q2.

(a) This section was answered well by almost all students

(b) The first part of this section was answered well by most students. Some students
did not understand that it is not sufficient to have a steady velocity for
equilibrium. They did not show that temperature should be steady as well. The
final part of this section can be solved in a couple of different ways. Most

students did well on this part.
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Exomners noe 93

(a) This section was answered well by almost all candidates

(b) This section was answered well by almost all candidates, although around 25%
of candidates did not give the correct definition of a dispersive medium.

(c) The algebra in this section was done well but few candidates could sketch the
graph, which was suprising.

(d) Around 25% of candidates thought that the flow is absolutely unstable if the
group velocity is positive, so clearly have not grasped the concept of absolute
instability. The majority answered this well, however,
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Exomine’s role Q-

This question requires the candidates to derive a familiar result in an unfamiliar way.
This seemed to confuse around half the candidates and there were several low marks
in this question.

{a) This section was well answered.

{b) Around half the candidates followed the technique suggested in the question and
wrote down the energy as the sum of kinetic energy and the potential energy in
the spring. Several tried alternative methods, some of which were successful,
but around 30% of candidates were thrown by this relatively simple section.
Very few candidates commented on how these terms vary over one cycle.

{c) Most of the candidates who reached this section managed to perform the algebra
correctly, but few followed the instruction to explain their reasoning.

(d) Again, most candidates performed the algebra correctly but few commented on
the dependence and even fewer managed to sketch the graph correctly.
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